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1 18
N
(kg/102) / / x_1000 /10 N/10
397 6 80 4 528 53.3 28.2 93 223 462 83.2 20.6 7.0 6.5
6 90 4 586 494 28.9 10.8 225 507 83.2 20.1 7.1 7.0
8 80 4 598 59.5 355 138 222 529 82.6 20.2 73 8.0
8 90 4 630 52.2 329 14.8 221 546 82.2 19.9 7.4 8.6
10 80 4 632 55.3 3438 17.2 224 558 773 19.7 79 9.3
10 90 4 643 57.2 36.9 16.0 22.0 527 80.9 20.0 74 8.2
6 80 4 570 49.6 28.2 85 22.6 473 81.1 20.0 6.5 6.8
6 90 4 595 49.1 29.1 7.6 225 511 85.2 19.8 6.5 6.8
8 80 4 578 57.7 329 8.0 228 531 815 19.7 6.6 77
8 90 4 642 52.7 337 10.0 224 527 80.5 19.1 6.7 8.3
10 80 4 603 58.3 36.4 8.6 225 539 785 195 6.8 85
10 90 4 656 48.3 316 10.0 22.3 524 80.6 18.8 6.8 8.5
6 kg/10a b b b b b b b b
8 kg/10a ab a ab a ab ab ab a
10 kg/10a a a a a a a a a
1.5.d.(0.05) 48.9 n.s. 4.2 2.9 n.s. 36.6 2.8 0.5 0.4 0.8
80 / a a
90 / b b
1.5.d.(0.05) 34.3 4.0 n.s. n.s. n.s. n.s. n.s. n.s. n.s. n.s.
397 a a a a
b b b b
1.5.d.(0.05) ns. ns. ns. 16 0.3 ns. n.s. 0.4 0.2 ns.
Tukey-Kramer HSD
8.5
1 6.5 6.8
8.07 kg kg
90 90
7.5
d kg/10a 500
7.0
i 600
6.5
50
6.0 \ r = 0.382** (n=108)
1 @ ‘ y=6.666+0.028x 30,000
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